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(AUB)=ANB , (AnB)=AUB.

(AUB) ={x/xg(AuB)} ={x/x¢ ArX¢g B}
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1) (a,b) R(c,d) <=> a+d=Db+c
2) (a,b)R(cd) <=> ad=h.c
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[(2.2)], [(2,9)]

X1

c.

1)V (a,b) e NxN =>a+b=Db+a =>(a,b) R (a,b)



2)V (a,b) R (c,d) => a+d =Db+c
ie ctb=d+a i.e (c,d) R (ab) Alaisddall ()

3) if(a,b) R(c,d)and (c,d) R (s,r) =>(a,b) R (s,r)
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[(2,.2)] = { (x,y) € NxN; (xy) R(1,1) }

={(x,y) e NXN; (x+1=y+1)}
={(x%y) €NxN; (x=y) }

{(1,1), (2,2) ,(3,3), (4,4), ....}
[25)]= { (xy) € NXN; (xy) R (2,5) }
= {(x,y) € NXN; x+5=y+2 }
={(xy);y=x+3}

= {x, x+3}
={d1,4), 2,5), (4,10), ... }
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f:N— N, f(n)=2n+5 VneEN
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g:N— N, gn)=2n+1
fog, gof sl
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gof = g(f(n)) = g( 2n+5) = 2(2n+5)* +1
= 4n®+10n + 26

fog = f(g(n)) = f(2n*+1) = 2(2n*+1) +5
= 4n’ +7
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Hf:R—>R, f(x) =sinx, VXER
DN 7—- 7, fx)=2x, VX€Z
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1) sin(xy) =sin(xy)
X1 #X,  say sin(0) =sin(IT) =0
0#11

2) f(X) = 2x el Gualy g al
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